
297
CTRS

297
CTRS

297
CTRS

297
CTRS

900 or 1200

25
0

10
0

90

930 or 1230

98
0 B

OL
T 

CE
NT

RE
S

750 or 1050 BOLT CENTRES

40

30
0

63
0

45

906 or 1206 INSIDE

30
0

175

17
0

75

= =

12
00

18
 - 

75
x1

2 P
L E

VE
NL

Y 
SP

AC
ED

974 or 674

67
4

500

300

100

15
0 100

50 NO
M.

150
600x600
900x600 150

45
0 M

IN
.

450

150

450 300

150= =

12
00

75

13
5

17
5

75

10
0

30
0 15

0

150
900x600
900x900 150

M12 GALV. BOLT 150
LONG EMBEDDED 115

M12 NUT &
L.S. WASHER

APRON

CONCRETE APRON

SL62 FABRIC PLACED
CENTRALLY, 50 EDGE COVER

Ø16 HOLE

150 THICK CONCRETE APRON

Ø16 HOLE

10mm GRATE
SUPPORT 25x100

75x12 PL

FOOT BRACKET
10 PL

75x12 PL

FIXING POINT
HOLE - Ø18

PUNCH Ø13 HOLES AT 12 HEIGHT
FOR Ø12 CROSS BARS

75x12 PL EACH END

FIXING POINT NUT.
REFER DETAIL 1-A

3xØ12 BARS -
900x900 GRATE,

2xØ12 BARS -
900x600 GRATE

50x10 FLAT SECTIONS

50x10 FLAT SECTION 19 or 13 EQUAL
SPACES

GRATE ANCHORAGE
REFER DETAIL 2-A

CONCRETE APRON

RECESS WITH STEEL FRAME
REFER DETAIL 2-B

50

20
=

=

60

110

50

25

25

M16 HEX NUT WELDED TO FRAME.
LOCATE TO SUIT ANCHORAGES

R10 ANCHOR AT
400 MAX CRS

50x10
FLAT SECTION

50x10 FLATS
Ø18 HOLE FOR M16x30 GALV. HEX HEAD

BOLT AND MEDIUM WASHER

10mm PLATE

WELD 16mm NUT TO
INNER SIDE OF GRATE

GRATE SIDE BAR
FRAME SIDE BAR

M16x50
GALV. BOLT

TYPE 1 - PLAN

TYPE 1 - SECTION A-A

TYPE 1 - GRATE TYPE 1 - FRAME TYPE 1 - SECTION B-B

5

5

5

5

5

DETAIL 1-A TYPE 2 - GRATE
TYPE 2 - SECTION

DETAIL 2-B

DETAIL 2-A

SECTION C-C

6

NOTES:
1. ALTERNATIVELY, A MODIFIED TYPE A GULLY (WITHOUT A LINTEL) TO ACCOMMODATE A FLUSH TYPE

A GRATE/FRAME MAY BE ADOPTED.
2. CONCRETE N25 IN ACCORDANCE WITH AS1379 AND AS3600.
3. ALL WELDS TO AS1554. ALL WELDING SYMBOLS TO AS1101.3.
4. GRATE AND FRAME TO BE HOT DIP GALV. AFTER FABRICATION TO AS4680.
5. REINFORCING BARS GRADE 250 TO AS1302.
6. ALL FLATS GRADE 250 TO AS3678.
7. ALL ANGLES GRADE 250 TO AS3679.
8. GRATES AND FRAMES TO COMPLY WITH AS3996 CLASS B DESIGN.
9. BOLTS, NUTS AND WASHERS TO AS1252.
10. HOT DIP GALVANISE BOLTS AND NUTS TO AS1214. HOT DIP GALVANISED WASHERS TO AS4680.
11. UNLESS APPROVED OTHERWISE BY COUNCIL DELEGATE, LIMIT DEPTH OF FIELD INLET TO 1,350mm.
12. FIELD INLETS DEEPER THAN 1,350mm TO BE INDIVIDUALLY DESIGNED AND CERTIFIED BY AN RPEQ.
13. FOR INLETS WITH DEPTHS GREATER THAN 1,200mm, STEP IRONS WILL BE REQUIRED IN

ACCORDANCE WITH AS1657.
14. DIMENSIONS IN MILLIMETRES (UNO).

AA

CC

100SEAL WELD TOP AND
BOTTOM OF JOINTS

(900x900 PIT SHOWN)
GRATE OMITTED FOR CLARITY

900 900

750

B
B

600 or 900

(900x900 GRATE SHOWN) (900x900 FRAME SHOWN)

GRATE/FRAME FIXING POINT

TOP OF GRATE AND FRAME LEVEL
WITH SURROUNDING SURFACE

BSD-8091
FIELD INLETS

TYPE 1 AND TYPE 2
B

NOT TO SCALE

BSD-8091 (B) Field inlets type 1 and type 2.dwg

SUPERSEDES UMS-337

A Drawing Converted from UMS Series April 2014 APR '14 APR '14 APR '14
B Notes Updated with Maximum Depth and Step Iron Requirements JUN '18 JUL '18 NOV '18

BRISBANE CITY COUNCIL STANDARD DRAWING

AutoCAD SHX Text
25x100 SUPPORT WELDED TO FRAME

AutoCAD SHX Text
5

AutoCAD SHX Text
A3

AutoCAD SHX Text
STD DWG GROUP

AutoCAD SHX Text
APR '01

AutoCAD SHX Text
CITY DESIGN

AutoCAD SHX Text
APR '01

AutoCAD SHX Text
M.STEER

AutoCAD SHX Text
MAY '01

AutoCAD SHX Text
PRINCIPAL ASSET OFFICER

AutoCAD SHX Text
ROADS AND DRAINAGE

AutoCAD SHX Text
DESIGN APPROVED

AutoCAD SHX Text
DRAWING AUTHORISED FOR PUBLICATION

AutoCAD SHX Text
MANAGER ASSET SUPPORT - R.P.E.Q: 3 8 5 2

AutoCAD SHX Text
B.HANSEN SIGNATURE ON ORIGINAL DATED 27/06/01

AutoCAD SHX Text
B.BALL SIGNATURE ON ORIGINAL DATED 29/06/01

AutoCAD SHX Text
DWG No.

AutoCAD SHX Text
DESIGN

AutoCAD SHX Text
DRAWN

AutoCAD SHX Text
CHECKED

AutoCAD SHX Text
DATE

AutoCAD SHX Text
DATE

AutoCAD SHX Text
DATE

AutoCAD SHX Text
REVISION

AutoCAD SHX Text
ORIGINAL SIZE

AutoCAD SHX Text
SCALE

AutoCAD SHX Text
AMENDMENT

AutoCAD SHX Text
ISSUE

AutoCAD SHX Text
DRAWN DATE

AutoCAD SHX Text
CHK'D DATE

AutoCAD SHX Text
APPR'D DATE

AutoCAD SHX Text
ASSOCIATED PLANS

AutoCAD SHX Text
DRAWING FILENAME


	Sheets and Views
	BSD-8091


